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MARKING SCHEME
1Evaluate:  +        +									(2mks)
                                     of (  +)

:  +     +									
                                     of (  +)

	 + 
	 = 


	=25+ = 25


2. Let r= 0.1515
100r=15.1515
99r=15.0000


R= =   
 3. Simplify										(2mks)
 
a(y-x)= a(y-x) = a = -a
b(y-x)   - b(y-x) –b    b
4.                T 		D		H
	15		8		8
	24				10
	15/24	x	8/10x8= 4 days




5.

	A1 = 0/360 r2
	=120/360x3.142x202=418.933cm2
4cm	                                   = 2.68.117cm2

Area of shaded region.=418.933-268.17
	16cm	120o	=150.816cm2



6.  2b+3s=410
    3b+2s=390
4b+6s=820
9b+6b=1170
5b+0=350
5b=350
5     5
2x70+35=410
140+35=410
3s=410-140
3s=270
3      3
S=90
Beans=70bags
Salt=90bag
7a). Let the exterior angle be x
X+2x=180
3x=180
X=60o
no  of sides 
360/60=6

b) Hexagon

8. Tan 24o= h/50
50 tan 24o = H
Tan 20o = H/(50 +x)
(50+x) tan 20=H
18.1999+0.364x=22.26
0.3640c=22.26-18.199
0.364x=4.061
X=4.061
      0.364
=11.16m

9. Volume of water=Ah
A=1/2(1x3) x 30= 60m2
V=60m2 x 8m=480m3
1m3=1000L
480m3=?
480m3 x 1000L
1m3
= 480,000L

10. Total vol	    = 15 litres = 15000cm³
	Tota; mass = 3000g + (12000  0.8)g
		     = 3000g + 9600g = 12600g				M1

	Density	= 					M1
		           = 0.84g/cm³					A1


11.   VSF = 3.375

	LSF = 								M1
	ASF = (1.5)²
	Area of larger cylinder
	= 352 x 2.25= 792cm²									A1
12.  X 1- X = 32

(X 1- X = 








13.
	1. 




 February salary

School fees


	M1




A1


B1
	



14.
	2. 


                

             
	B1
B1
B1
	





15. 10,000  82.4	= 824000					M1

	10,000 					M1
	824000 – 750000 =
	Sh.74000							A1

16. L.C.M=12           24x-16-12x+6=12-10x
                               24x-12x+10x=12-6+16
                                 22x=22
                                     X=1


SECTION II

	17
	a) x = 9.85
9.85
3.5
10
1.75
3.5
1.75
ℓ = 9.85
L = 19.69








T.S.A =  + (RL – rL)
= (r2 + RL – rL)
=  (1.752 + 3.52 x 19.69 – 1.75 x 9.85)
=  x 54.18
= 171.1cm2

b) Vol = R2H - r2h
H = 20
h = 10
 (R2H - r2h)
 (3.52 x 20 – 1.752 x 10)
 (245 – 30.625)
  x 214.375
 cm3

	





B1



M1
M1
M1
A1


B1


M1
M1

M1
A1
	





	18a)
	i) 10.30
-9.00
  1.30
Jane travelled =  x 15 = 22.5
Distance before Tom starts journey
Relative speed = 15 + 25 = 40km/hr
T.T.T.M = 
    = 0.4375 hrs
15 x 0.4375 = 6.5625km
    22.5 + 6.5625
                = 29.0625km

ii) They met after 0.4375 hrs
= 0.4375 x 60
= 26 minutes
10.30
+   26
10.56am
iii) Jane had travelled 29.0625km
= 40.00 – 29.0625
= 10.9375km

b)    = 0.91146 hrs
0.91146 hrs = 55 minutes
Add rest time = 10 minutes
= 65 = 1 hr 5 minutes
10.56
+1.05
[image: C:\Documents and Settings\Mulaki\Local Settings\Temporary Internet Files\Content.Word\Picture 227.jpg]12.01 pm
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	a) 


















b) 
i) Distance R from P
= 13.4cm ± 0.1
But 1 cm rep 20km = 13.4 x 20 = 268km

ii) Bearing of Q from S
          034o ± 001o

iii) Distance of Q from S
12.4cm ± 0.1
But 1cm rep 20km = 12.4 x 20 = 248km
iv) How far P is north of S
= 4.5cm
But 1cm rep 20km = 4.5 x 20 = 90km
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20. [image: ]
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	21
	a)


   < PAQ = <PAM + <QAM

   < PAM = sinθ1 = 
         Sin -1 (0.4286) = 25.380
         < QAM = <PAM = 25.38
                   →<LAP = 25.38x2= 50.76
 
b)  <PBQ = < PBM + <QBM

      < PBM = sin∝1 = 
         Sin-1 (0.5357) = 32.390
                       < PBM = <QBM = 32.390
                    <PBQ = 32.390x 2 = 64.78



c)i)



area of segment = area of a section – area of D
Taking (i) 

       = 
                 = 48.84 – 42.69 = 6.15cm2
Taking (ii)

      =
         = 39.89 – 31.92 = 7.97cm2
              = (6.15 + 7.97) cm2 = 14.12cm2
 
	



M1

A1




M1

A1





M1


B1

M1M1

B1

A1
	

	
	
	
	


 
	22.a) Kamau              Tatwa           Makau
100,000             80,000         50,000
    10           :          8         :        5
 5     = 20,000
23
1 = ?
20,000 x 23
                5
= 92,000

(a) (i)  New Ratio
            5 : 4 : 3
           120 x 92,000
           100
           New profit = 110,400

          Kamau’s share = 5 x 110,400
                                     12
                           = 46,000

(ii)  Tatwa’s share = 4 x 110,400
                                12
                    = 36,800
     Difference = 46,000 – 36,800
                      = 9,200
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